Present perfect (irregular participles only)

10

11

12

13

Horizontal
3) USTED/ROMPER
4) YO/ABRIR
5) YO/HACER
9) YO/ESCRIBIR
11) YO/DECIR
14) NOSOTROS/OIR
15) NOSOTROS/ROMPER
16) NOSOTROS/DECIR

14

15

16

Vertical
1) YO/OIR
2) YO/CUBRIR
3) YO/LEER
5) YO/ROMPER
6) YO/MORIR
7) YO/PONER
8) YO/VER
9) USTED/ESCRIBIR
10) USTED/OIR
12) YO/FREIR
13) YO/VOLVER



SOLUTION

O T T =10 o
- o) - O
@] O — (@) T
x T L —|O x O
< (@) n n —
I |uw w <|O o @]
T = = ]
@] W O I |uw L @]
— T — T T =
o - L
I |w D x @] T
- @) I |w -
m n @)
< L —|lwn
I|uw — L
T T n -

HIE|D




